Exercise No. 3

21.03.06-04.04.06

The purpose of this assignment is to practice using objects. 
On the course web-site you will find a jar file with a set of classes representing a simple model of a company. There are two classes: Department and Worker. They each have a set of attributes that describe them and methods that maintain the relationship between them.

The Acme company is founded with the following initial structure:

[image: image1]
1. Implement the method found() in the class AcmeCompany. The method should create a Department object that represents the entire company, as shown in the diagram above. This method should construct many objects and connect them as appropriate.
2. Implement a method findWorker(String name) that returns a worker given his/her name, and a method findDepartment(String name) that returns a department given its name. These two should use recursion.

3. Implement a method moveUgi() that moves the worker Ugi from Expenses to Income.

4. Implement a method fireKermit() that removes Kermit from the company.

5. Implement a method reorganize() that closes the Glue department, fires Miki and Donald, and moves Pluto to the Coyotes department.
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